3 (Sem-1) STS

2016

STATISTICS
( General ) .

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as
directed : 1x7=7

et fian epcared ot T fr -

(@) Mailed questionnaire method cannot be
adopted if the respondents are

(Fill in the blank)

SFETs A el Al IR A
TR aficz, Teqwre = |

(1R 312 *@ 40)

(b) The appropriate relation between mean,
median and mode of a moderately
skewed distribution is

(Fill in the blank)
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(c)

(@)

(e)

A7/18

(2)

e Req Ram 3% ORI, TN HE
T WS 41 TR IR (R |
(A1 312 779 F90)

Write down the value of A* (ax™ +bx™ ™).

A" (ax™ +bx™ 1) 3 W fordn |

State whether the following statement
is true or not :

“For a third central moment, no
Sheppard’s correction is necessary.”

wod Sfeehl wE =W = ey 90

“o®i (ER YAFT T (HATET TN
W@W I”

At which point the two cumulative
frequency curves intersect each other?

3 favge 79 RIS (7Y (R FORFD I ?

10 is the mean of a set of 7 observations
and 5 is the mean of a set of
3 observations. The mean of the
combined set is

il 15
(ii) 10
(i) 8:5
(iv) 7°5 (Choose the correct answer)
{ Continued )

(3)

751 IR G 9B T 10 WF 3% ImF ¢
9B T 5. WS (N6 M@ L7

) 15
(@) 10
(iii) 8-5
() 7-S (e Saacor R Tferean)

(g) State the fundamental ~theorem of
finite difference.

A3 wEaFaw aifdes CNfere Soremmcor foret |

2. Answer the following questions : - 2x4=8

@Y 2NART Teq ol

(a) Define interpolation.

SRS e |

(b) Discuss any two problefns involved
in the construction of price index
number.

T IRT HEOPIN TS Wve [ A 0!
s Raca fos |

() Write down the requisite qualities of
an ideal measure of central tendency.

GG I (IR 2{fET R RIS IR
Ell
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(4)

(d) How do you determine the mode of
a grouped frequency distribution
graphically?

M Reffe I[EIEE IG7 DR IET
R (F1Y ST e a2

3. Answer any three of the following

questions : 5x3=15
were frar R e fofbt em Teg forwn

(a) What do you mean by statistical data?
Discuss any two methods of collection
of primary data.

AR o P B e g ©u
2eRd R @I 751 AmhS R 4

(b) Express the first four central moments
in terms of raw moments.

22" BRG] (FEE §IFT T (R YT AXACT
fAefg a1 1

(¢) What is frequency distribution? Explain
the general rules for construction of
frequency distribution.

IRl Remm Wi 2 Imawe Rewm
2FFS 99 AR IR 3909 9 |
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4.

(5)

(d) Define skewness and kurtosis. Discuss
the utility of skewness in statistics.

AT W P I @ A AR
Reme waforws Socafier R scarsn
3911

{e) Find the third differences with arguments
2, 4,9, 10 of the function f(x) = x> -2x.

vorn Refie wwsw W Sfrear, Ffmcz F=wo!
fl)=x2 -2x TS xI TN 2, 4, 9, 10.

Answer any three of the following
questions : 10x3=30

- wore T R e oG 2 Tew fora

(a) What do you mean by dispersion? What
are different measures of dispersion?
Which one is considered to be the best
and why? 2+6+2=10

opRY i B ogEe R Ridw e
& & 7 wibizete TR Mokt & I {02

(b) () What is an index number? Explain
the role of weights in the
construction of price index number.

2+3=5

5T WC 2 T PR A5TS ST
SepariareR e fora |
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(6) : _ _ (7)
(i) What is a cost of living index (CLI) ‘ (ii) Use trapezoidal formula and
number? Discuss its uses. 5 Simpson’s %th formula to calculate
the integral
RN T OPIE A R WR T @ 5
IR R T 4 | o 1+ %2 :
GPremor we e 2 fram acs 3R

() (@) State and prove a suitable J'l dxzﬁ W= fefy 11
interpolation formula, given that T 1l+x
the arguments are not equally . - s .
spaced. 1+4=5 (e) (i) Whatis F1sher§ 1d‘eal 1ndex‘ number

{% formula? Why is it called ideal? 2+2=4
oY TERY IHEH SIS =
fForRT v 2 ?
frar aiieear @b g wwcEm @ R e Ewwmv[a%.wm
A9 T4 b
(ii) Prove that
e " A?) , Ee*
(i) Estimate f(3) and f(Q) from the gt =| —lg* ——
following data by interpolation : 5 N - ks
o SRR 4 : where h is the interval of
v T &l n differences 3
fB) S £(9) SFe T '
' ‘ pa ) L B
x 2 4 6 8 10 2 % |
flx) : 4 13 25 43 64 % | B g% B0
E A2e*
TS h xR S S |

d i) Writ d th .

-y Wik g Sav o gaed. (i) Find the coefficient of variation
quadrature formula and then from the following data : 3
obtain the Simpson’s ird rule. 5 g :

— oo :
R ST ST DT B TS TRl B “R1 {63 @I 1Rl 1
R 2R foreberd 1wt fahr Sferean | 58, 69, 60, 54, 65, 57, 49, 79
* %k
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